Differentiation Quiz ... Set 3
Find the derivative:

1. y= Vrlsinz
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2.y =12

3. y= (3:‘1 — 5111:1‘.(:051‘)3
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¥ _ 2z
4 y= r+3
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5. y=(VaZ—1+1)
6. y = cos (LI‘E) tan (vz + 1)

y = cos (cos (cos (3x)))

8. y= /3%

9. y=2*(Vr +2)
10. f(z) = 2v2% + 1 +sin (4F)
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Answers

3 .
Yy=2xz8Inr
Y =3zr3sinz +r2co87
' sec? 1(13 —0—2)—3.]:2 tanx
(z3+2)
A, 2. :
y' =3 (:1,"4 + sin z cos :1:) (4$3 + cos? 7 — sin” 7)

; (322 -2)(z+3)—(z*—2z)
4= (+3)7

LY = ((1‘2—1)%—%1)10

=10 (VEZ=T1+1) L (22— 1) %22
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.y = —sin (22) 2z tan (v + 1) + cos (2?) sec? (Vz + 1) 5 (z + 1)_%
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y = (l_ii
1 1
r_ 1 (I—I-r) 2 (2—z)+(14x) _1 (14_1) 2 g
Y=32\2=% 2-2)° 2\2= (2—2)?
y = 1x? (ﬁ + 2)
y' =2z (ﬁ + 2) + 22 (%:r_%)
1
f(z)=2(z® +1)? +sin (¥F) tricky question! notice sin (4F) is just a const

f(z) = (2% + 1}_% 2x



